
Page 1 of 1 
 

 
 
 
 
 
 
 
 

 
 

Fixing Instructions for: Rear Carrier Black Classic EFI - P/No 92773 
 
These are the items you will have received in your kit: 
 

• 1 Rear Carrier Black 
• 4 M8 x20mm Nyloc Nuts Stainless 
• 4 Bolt M8 x 20mm Stainless 
• 8 Flat Washers 5/16” Stainless 
• 4 Q Clips 16mm Diameter (2 separate pieces 

per clip) 
 
 
You will require the following tools : 
 

• 13mm Spanners x 2 
 
Instructions: 
 
Working on one side at a time, attach one Q Clip to the rear of the mudguard rail as in photo below left (Due to 
variances in mudguards, it may be necessary to apply a bit of thumb pressure to the mudguard or slacken the 
mudguard to stay bolts to allow the clip to pass between the mudguard and stay). Using the supplied bolt, nut and 
washers attach the slotted stay of the carrier to the front of the Q clip as shown and lightly tighten. 
 

 
 
 
 
 
 
 
 
 
 
 

Attach one Q Clip to the front of the mudguard rail as in photo above right. Locate the forward stay of the carrier 
against the front of the Q clip and pass a bolt and washer through the assembly from behind. Finally secure that 
bolt with M8 Nut and Washer. 
 
Repeat until all four fixing points are attached. Tighten all fixings and test that all is secure. 

HITCHCOCK’S MOTORCYCLES LTD 
ROSEMARY COURT 
OLDWICH LANE WEST 
CHADWICK END 
SOLIHULL 
B93 0EY           ENGLAND 
 

TELEPHONE: 01564 783 192 
FAX:  01564 783 313 

 
SPARES FOR ROYAL ENFIELD AND AMAL 
 
 EMAIL: info@hitchcocksmotorcycles.com 
 WEB: www.hitchcocksmotorcycles.com 


